De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

4
23 * o
9
2 * 70
35
100
2 + L + # =
100 10
6 7
82 * 710 * 1000
8 52

. 2c
10 100




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

4
2l * oo
1
210 + 10 =
8
1000
2 5
67 * 70 * 100
8 5
7Y T Y 100
6 3

100 1000




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

4
2 * 000
6
26+ To9 T
28
10 )
3 5
280+ —0 * 000
7 1
4 Y 700 Y T10
2 8

100 1000




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

9
73 + 10 =
1
8 * 000
777
100
2 5
25+ 7o * 100
o + —6 + —3 =
100 1000
4 7

+
10 1000




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

4
8 * 10
1
84 v T 7
256
1000
4 + i + L =
1000 10
7 + L + i =
100 1000
8 6

., 92
10 100




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

.
281+ T000
1
3 % 700
285
1000
2 4
7 * "0 " w00 °
5 3
%+ 79 Y 000
6 7

. -
10 100




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

8
8 + 10 =
4
Ol + 000
153
10 )
3 9
6 * 000 * 100 °
1 5
897 * o0t T10
6 2

100 1000




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

7
1 + 10 =
4
%+ 000
8
100
8 2
223 * 000 Y T10
5 3
™0+ T * 1000
9 1

.
10 100




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

5
5 * T000
1
A
503
100
o) + L + i =
1000 10
7 + i + L =
100 1000
3 8

., 9
10 100




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

9
6l * oo
5
2 * 000
700
10 )
1 4
M+ 70 Y 10 O
3 + —6 + —2 =
10 1000
3 7

100 1000




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

8
36 * 00
2
26+ — o =
2638
1000
1 9
7 * 710 Y T100 °
5 3
250+ =9~ * 000
4 6

1000 100




De la fraction au nombre décimal

Donne une écriture décimale des nombres
suivants :

.
129 * 000 °
1
38 * 000
8
100
9 2
683 + T9 * T100
4 6
3 4 — o+ ——— =
10 1000
3 5

- +
100 10







